
Каталог продукции
HAWEKA

По вопросам продаж и поддержки обращайтесь:

Алматы (7273)495-231
Архангельск (8182)63-90-72
Астрахань (8512)99-46-04
Барнаул (3852)73-04-60
Белгород (4722)40-23-64
Брянск (4832)59-03-52
Владивосток (423)249-28-31
Волгоград (844)278-03-48
Вологда (8172)26-41-59
Воронеж (473)204-51-73
Екатеринбург (343)384-55-89
Иваново (4932)77-34-06
Ижевск (3412)26-03-58
Иркутск (395)279-98-46

Казань (843)206-01-48
Калининград (4012)72-03-81
Калуга (4842)92-23-67
Кемерово (3842)65-04-62
Киров (8332)68-02-04
Краснодар (861)203-40-90
Красноярск (391)204-63-61
Курск (4712)77-13-04
Липецк (4742)52-20-81
Магнитогорск (3519)55-03-13
Москва (495)268-04-70
Мурманск (8152)59-64-93
Набережные Челны (8552)20-53-41
Нижний Новгород (831)429-08-12

Новокузнецк (3843)20-46-81
Новосибирск (383)227-86-73
Омск (3812)21-46-40
Орел (4862)44-53-42
Оренбург (3532)37-68-04
Пенза (8412)22-31-16
Пермь (342)205-81-47
Ростов-на-Дону (863)308-18-15
Рязань (4912)46-61-64
Самара (846)206-03-16
Санкт-Петербург (812)309-46-40
Саратов (845)249-38-78
Севастополь (8692)22-31-93
Симферополь (3652)67-13-56

Смоленск (4812)29-41-54
Сочи (862)225-72-31
Ставрополь (8652)20-65-13
Сургут (3462)77-98-35
Тверь (4822)63-31-35
Томск (3822)98-41-53
Тула (4872)74-02-29
Тюмень (3452)66-21-18
Ульяновск (8422)24-23-59
Уфа (347)229-48-12
Хабаровск (4212)92-98-04
Челябинск (351)202-03-61
Череповец (8202)49-02-64
Ярославль (4852)69-52-93

Россия (495)268-04-70 Киргизия (996)312-96-26-47 Казахстан (7172)727-132

hwa@nt-rt.ru || https://haweka.nt-rt.ru/

mailto:hwa@nt-rt.ru
https://haweka.nt-rt.ru/


1

Table of Contents

Quick Nuts / Shafts	 Pages 2 - 7

Hub Centering	 Pages 7 - 13

Lug Centering	 Pages 13 - 20

System / Kits	 Pages 21 - 22

Medium Duty	 Pages 23 - 27

Heavy Duty	 Pages 28 - 33

Motorcycle	 Pages 33 - 35

Tools / Storage	 Page   35

Terms and Conditions	 Page   36



2

Q
U

ICK N
U

TS/SHAFTS

QUICK NUTS/SHAFTS
40 x 3 Pro Grip
HUNTER, COATS, CORGHI, ACCUTURN, BEISSBARTH, SICAM, JERICHO, KWIK WAY
Hunter Models 700, DSP9500 90-92

Coats Models 700,800,825,850,925,950,1000,1025,1050,1055,1250,1255 - Upgraded to Haweka 40mm shaft Product
Accuturn 5800, 6000, All Beissbarth, Corghi 40mm Models, Kwik Way Models SBM50,55,100,150,200,250,800,850

ProGrip Quick Nut HW143 403 003

ProGrip Quick Nut with Handles HW143 403 006

Steel ProGrip Quick Nut  HW140 403 033

Wing Nut HW140 403 101

40 x 4 Pro Grip
SNAP ON, COATS XR MODELS, JBC, BOSCH, CEMB, FMC, KWIK WAY, LAUNCH, ACCUTURN
Snap On and JBC All 40x4, Bosch All, CEMB All after1995, FMC All, Launch Models 408, 500

Coats XR Models All, Kwik Way Models 402,571,HS,572,574,576,578, Accuturn 1200-1850

ProGrip Quick Nut HW143 404 003

ProGrip Quick Nut with Handles HW143 404 006

Steel ProGrip Quick Nut HW140 404 033

Wing Nut HW140 404 101

40 x 8 Pro Grip
HUNTER, HUNTER ROAD FORCE, COATS
All Hunter Models exc 700 and DSP9500 90-92; All Coats Models Quick Nut Only

Coats Models 700,775,800,825,850,875,925,950,1000,1025,1050,1055,1175,1250,1255 (40mm shaft upgrade),6275HS

Steel ProGrip Quick Nut with Handles and Pressure Cup HW124 408 006

Wing Nut HW140 408 101 with Pressure Cup - Hunter Only HW124 408 009

40 x 5 Pro Grip
HOFMANN, RAV, SNAP ON, JOHN BEAN (JBC)
Hofmann All, RAV All, Snap On and JBC VPI 8.5, 8.6. 8.7 and 9.7 Product

ProGrip Quick Nut with Handles HW143 405 006

Product

Product



3

Q
U

ICK N
U

TS/SHAFTS

Quick Nut Kit RAV

ProGrip and Soft Grip Product
ProGrip Replaces OEM Quick Nut

Includes QuickNut. Pressure Ring and Pressure Cup

Soft Grip Replaces OEM Quick Nut

Includes QuickNut. Pressure Ring and Pressure Cup

Soft Grip 40mm - New with Pressure Cup - Non Road Force Balancers Only

New Soft Grip Quick Nuts with Pressure Cup Product

Soft Grip Quick Nut 40 x 3 HW125 403 000

Soft Grip Quick Nut 40 x 4 HW125 404 000

Soft Grip Quick Nut 40 x 8 HW125 408 000

Soft Grip Quick Nut 40 x 3 with Handles HW125 403 001

Soft Grip Quick Nut 40 x 4 with Handles HW125 404 001

Soft Grip Quick Nut 40 x 8 with Handles HW125 408 001

Soft Grip 40mm - New without Pressure Cup - Non Road Force Balancers Only

New Soft Grip Quick Nuts without Pressure Cup Product

Soft Grip Quick Nut 40 x 3 HW144 403 000

Soft Grip Quick Nut 40 x 4 HW144 404 000

Soft Grip Quick Nut 40 x 8 HW144 408 000

Soft Grip Quick Nut 40 x 3 with Handles HW144 403 001

Soft Grip Quick Nut 40 x 4 with Handles HW144 404 001

Soft Grip Quick Nut 40 x 8 with Handles HW144 408 001

HW124 405 000

HW125 404 000



4

Q
U

ICK N
U

TS/SHAFTS

28 x 3.5 Pro Grip
SNAP ON, JOHN BEAN
Snap On 28mm Models Product

ProGrip Quick Nut with Handles HW143 285 006

28 x 3 Pro Grip
SNAP ON
All Snap On Models Upgraded to 28mm Haweka Shaft Product

ProGrip Quick Nut HW143 283 003

ProGrip Quick Nut with Handles HW143 283 006

36 x 3 Pro Grip
ACCUTURN, CEMB, COSENG, RANGER, LAUNCH
Accuturn 6100, 6600, 6700, 6800, CEMB pre1995, Coseng C301,311,322,366, Ranger All, Launch Models 402, 412 Product

ProGrip Quick Nut HW143 363 003

ProGrip Quick Nut with Handles HW143 363 006

38 x 3 Pro Grip
CORGHI
All Models pre2007 Product

ProGrip Quick Nut HW143 383 003

ProGrip Quick Nut with Handles HW143 383 006

46 x 6 Wing Nut
CORGHI
Truck Balancer ET66WL Product

Wing Nut HW140 466 101

Quick Nut Accessories and Repair
Description Part Number Product

5" Standard Pressure Cup - Series HW140, HW143, HW124 Only HW190 008 002

5" Rubber Cover for Standard AND  Soft Grip Pressure Cups - All Series HW190 008 005

8" Standard Alloy Rim Pressure Cup - Series HW140, HW143, HW124
Only

HW190 008 021

8" Standard Alloy Rim Rubber Cover - Series HW140, HW143, HW124
Only

HW190 008 039



5                                            

Q
U

ICK N
U

TS/SHAFTS
Truck Balancer ET66WL Product

Wing Nut HW140 466 101

Quick Nut Accessories and Repair
Description Part Number Product

SHAFTS
Description Part Number Product

10" Threaded Extended Shaft 36x3mm CEMB HW170 588 001

7.75" Threaded Shaft 40x4mm CEMB, Accuturn HW170 589 001

13' Threaded Shaft, Long 40x8mm Hunter HW170 617 003

10" Threaded Shaft Super Long 40x4mm FMC      HW170 827 002

8.5" Threaded Shaft, Long 28x3mm Coats    HW170 937 001

9.5" Threaded Shaft, Long 40x3mm Coats    HW170 937 002

10" Threaded Shaft 40x8mm Coats HW170 937 007

10" Threaded Shaft, Long 28x3mm SnapOn   HW170 957 002

5" Pressure Cup for New Soft Grip Quick Nut - Series HW125, HW144
Only

HW190 008 065

Pressure Ring for Series HW140, HW143, HW124 Nuts HW190 008 027

Quick Nut Replacement Jaws  28mm-3mm Series HW143 Only     HW140E283 302

Quick Nut Replacement Jaws  36mm-3mm Series HW143 Only      HW140E363 302

Quick Nut Replacement Jaws  38mm-3mm Series HW143 Only HW140E383 302

Quick Nut Replacement Jaws  40mm-3mm Series HW140, HW143 Only HW140E403 302

Quick Nut Replacement Jaws  40mm-4mm Series HW140, HW143 Only HW140E404 302

Quick Nut Replacement Jaws  40mm-5mm Series HW140, HW143 Only HW140E405 302

Quick Nut Replacement Jaws  40mm-8mm Series HW124 Only HW140E408 302

Pro Grip Repair Kit Series HW140, HW143, HW124 Only HW141E008 310



6                           

Q
U

ICK N
U

TS/SHAFTS

SHAFT UPGRADE AND CONVERSION KITS - PROGRIP and SOFT GRIP

COATS

Models 700,800,825,850,925,950,1000,1025,1050,1055,1250,1255 Product

ProGrip Quick Nut Kit for Coats 28mm x 3mm

Includes QuickNut, Pressure Cup and Haweka Style Shaft

ProGrip Coats Shaft Conversion Kit - 28mm - 40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

Soft Grip Coats Shaft Conversion Kit - 28mm - 40mm

Includes Soft Grip, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

SNAP ON

Replacement Kit for 28mm Shaft and 40mm Upgrade Kit Product

ProGrip Quick Nut Kit for Snap On 28mm x 3mm

Includes QuickNut, Pressure Cup and Haweka Style Shaft

HW124 937 003

HW124 937 150

HW125 937 006

HW124 957 050

SHAFTS
Description Part Number Product

10" Threaded Extended Shaft 36x3mm CEMB HW170 588 001

7.75" Threaded Shaft 40x4mm CEMB, Accuturn HW170 589 001

13' Threaded Shaft, Long 40x8mm Hunter HW170 617 003

10" Threaded Shaft Super Long 40x4mm FMC      HW170 827 002

8.5" Threaded Shaft, Long 28x3mm Coats    HW170 937 001

9.5" Threaded Shaft, Long 40x3mm Coats    HW170 937 002

10" Threaded Shaft 40x8mm Coats HW170 937 007

10" Threaded Shaft, Long 28x3mm SnapOn   HW170 957 002

9.25" Threaded Shaft, Long 28x3.5mm SnapOn HW170 957 011

Threaded Shaft, Long 28x3.5mm SnapOn (New Series)   HW170 957 012

10" Threaded Shaft, Long 40x4mm SnapOn   HW170 958 002

10" Threaded Shaft 40x4mm JBC, Accuturn, Hofmann HW170 958 014

CEMB Upgrade Shaft 36 to 40mm HW170 988 002

Shaft Gauge - Measures Shaft Diameter and Thread Pitch HW900 008 108

8.5" Threaded Shaft, Long 28x3mm Coats    HW170 937 001

9.5" Threaded Shaft, Long 40x3mm Coats    HW170 937 002

10" Threaded Shaft 40x8mm Coats HW170 937 007

10" Threaded Shaft, Long 28x3mm SnapOn   HW170 957 002

9.25" Threaded Shaft, Long 28x3.5mm SnapOn HW170 957 011

Threaded Shaft, Long 28x3.5mm SnapOn (New Series)   HW170 957 012

10" Threaded Shaft, Long 40x4mm SnapOn   HW170 958 002

10" Threaded Shaft 40x4mm JBC, Accuturn, Hofmann HW170 958 014

CEMB Upgrade Shaft 36 to 40mm HW170 988 002

Shaft Gauge - Measures Shaft Diameter and Thread Pitch HW900 008 108



7            

Q
U

ICK N
U

TS/SHAFTS

HUB CENTERING

HU
B CEN

TERIN
G

ProGrip Quick Nut Kit for Snap On 28mm x 3mm

Includes QuickNut, Pressure Cup and Haweka Style Shaft

ProGrip Snap On Shaft Conversion Kit - 28mm-40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

Soft Grip Snap On Shaft Conversion Kit - 28mm-40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

MID CENTERING DEVICES
New MCD 40x4mm Product

Super Long 40x4mm Mid Centering Device

Hofmann, Bosch, SICAM, FACOM, Beissbarth

HW124 957 150

HW100e818 028

HW125 957 006

HW124 957 050

SHAFT UPGRADE AND CONVERSION KITS - PROGRIP and SOFT GRIP

COATS

Models 700,800,825,850,925,950,1000,1025,1050,1055,1250,1255 Product

ProGrip Quick Nut Kit for Coats 28mm x 3mm

Includes QuickNut, Pressure Cup and Haweka Style Shaft

ProGrip Coats Shaft Conversion Kit - 28mm - 40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

Soft Grip Coats Shaft Conversion Kit - 28mm - 40mm

Includes Soft Grip, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

SNAP ON

Replacement Kit for 28mm Shaft and 40mm Upgrade Kit Product

ProGrip Quick Nut Kit for Snap On 28mm x 3mm

Includes QuickNut, Pressure Cup and Haweka Style Shaft

ProGrip Snap On Shaft Conversion Kit - 28mm-40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

Soft Grip Snap On Shaft Conversion Kit - 28mm-40mm

Includes QuickNut, Pressure Cup, Upgrade Shaft, Spring and 4 Cone Kit

MID CENTERING DEVICES
New MCD 40x4mm Product

Super Long 40x4mm Mid Centering Device

Hofmann, Bosch, SICAM, FACOM, Beissbarth

HW124 937 003

HW124 937 150

HW124 957 150

HW100e818 028

HW125 937 006

HW125 957 006

HW124 957 050
DUO EXPERT COLLETS

Description Part Number Product

Duo Expert Kit

Includes Duo Collets  I, II, III and IV HW165 400 007

54-86mm Range

Duo Collet I

54-62mm Range

Duo Collet II

62-70mm Range

Duo Collet III

70-78mm Range

HW165 400 001

HW165 400 002

HW165 400 003



8             

HU
B CEN

TERIN
G

PRO COLLETS
Description Part Number Product

Pro Collet Kit

Kit Includes Pro Collets 1-9 (Collet #10 is Optional)

52.5-122mm or 2.07-4.76"

Low Taper Collet #1

52.5-61.0mm or 2.07-2.40"

Low Taper Collet #2

61.5-70.0mm or 2.42-2.76"

Low Taper Collet #3

67.5-76.0mm or 2.66-2.99"

Low Taper Collet #4

75.0-83.0mm or 2.95-3.27"

Low Taper Collet #5

82.0-90.5mm or 3.23-3.56"

Low                

HW150 xx0 113

HW150 xx0 110

HW150 xx0 111

HW150 xx0 112

HW150 xx0 114

HW150 xx0 115

DUO EXPERT COLLETS
Description Part Number Product

Duo Expert Kit

Includes Duo Collets  I, II, III and IV HW165 400 007

54-86mm Range

Duo Collet I

54-62mm Range

Duo Collet II

62-70mm Range

Duo Collet III

70-78mm Range

Duo Collet IV

78-86mm Range

Duo Collet V (optional)

86-94mm Range

Duo Collets are available in 40mm only.  Duo Collet V optional - special order.

HW165 400 001

HW165 400 002

HW165 400 003

HW165 400 006

HW165 400 004

Duo Collet II

62-70mm Range

Duo Collet III

70-78mm Range

Duo Collet IV

78-86mm Range

Duo Collet V (optional)

86-94mm Range

Duo Collets are available in 40mm only.  Duo Collet V optional - special order.

HW165 400 002

HW165 400 003

HW165 400 006

HW165 400 004



9                                            

HU
B CEN

TERIN
G

PRO COLLETS
Description Part Number Product

Pro Collet Kit

Kit Includes Pro Collets 1-9 (Collet #10 is Optional)

52.5-122mm or 2.07-4.76"

Low Taper Collet #1

52.5-61.0mm or 2.07-2.40"

Low Taper Collet #2

61.5-70.0mm or 2.42-2.76"

Low Taper Collet #3

67.5-76.0mm or 2.66-2.99"

Low Taper Collet #4

75.0-83.0mm or 2.95-3.27"

Low Taper Collet #5

82.0-90.5mm or 3.23-3.56"

Low Taper Collet #6

89.0-97.5mm or 3.50-3.84"

Low Taper Collet #7

94.0-103.0mm or 3.70-4.06"

HW150 xx0 113

HW150 xx0 116

HW150 xx0 117

HW150 xx0 110

HW150 xx0 111

HW150 xx0 112

HW150 xx0 114

HW150 xx0 115

Low Taper Collet #4

75.0-83.0mm or 2.95-3.27"

Low Taper Collet #5

82.0-90.5mm or 3.23-3.56"

Low Taper Collet #6

89.0-97.5mm or 3.50-3.84"

Low Taper Collet #7

94.0-103.0mm or 3.70-4.06"

HW150 xx0 116

HW150 xx0 117

HW150 xx0 114

HW150 xx0 115

PRO COLLETS
Description Part Number Product

Low Taper Collet #8

101.0-111.0mm or 3.98-4.37"

Low Taper Collet #9

Must be Used with Universal Spacer

112.0-121.0mm or 4.41-4.76"

Low Taper Collet #10 - New Optional

Must be Used with Universal Spacer

120.0-126.0mm or 4.72-4.96"

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW150 400 110

HW150 xx0 118

HW150 xx0 119

HW150 xx0 123

OE PRO COLLETS
Description Part Number Product

Ford Precision Collet

86.4-87.3mm / 91-96mm

3.4-3.44" / 3.58-3.78"

Toyota Precision Collet

99-101.5mm / 105-110.7mm

                      

HW160 xx0 060

HW160 xx0 062



10                                             

HU
B CEN

TERIN
G

OE PRO COLLETS
Description Part Number Product

Ford Precision Collet

86.4-87.3mm / 91-96mm

3.4-3.44" / 3.58-3.78"

Toyota Precision Collet

99-101.5mm / 105-110.7mm

3.9-4.00" / 4.13-4.36"

Chrysler Precision Collet #1

66.5-67.5mm / 71-72mm

2.62-2.66" / 2.8-2.83"

Chrysler Precision Collet #2

73.6-74.6mm / 77-78.5mm

2.9-2.94" / 3.03-3.09"

BMW Precision Collet I

66.5mm

2.62"

BMW Precision Collet II

56-57mm / 72.5-74mm

2.20-2.25" / 2.85-2.91"

HW160 xx0 060

HW160 xx0 062

HW160 xx0 063

HW160 xx0 064

HW160 xx0 072

HW160 xx0 069

Ford Precision Collet

86.4-87.3mm / 91-96mm

3.4-3.44" / 3.58-3.78"

Toyota Precision Collet

99-101.5mm / 105-110.7mm

3.9-4.00" / 4.13-4.36"

Chrysler Precision Collet #1

66.5-67.5mm / 71-72mm

2.62-2.66" / 2.8-2.83"

Chrysler Precision Collet #2

73.6-74.6mm / 77-78.5mm

2.9-2.94" / 3.03-3.09"

BMW Precision Collet I

66.5mm

2.62"

BMW Precision Collet II

56-57mm / 72.5-74mm

2.20-2.25" / 2.85-2.91"

HW160 xx0 060

HW160 xx0 062

HW160 xx0 063

HW160 xx0 064

HW160 xx0 072

HW160 xx0 069



11                                            

HU
B CEN

TERIN
G

OE PRO COLLETS
Description Part Number Product

Tesla Precision Collet

58mm / 65mm

2.28" / 2.56"

Land Rover Precision Collet

63.6-64.4mm / 72.1-73mm

2.50-2.54" / 2.84-2.87"

Mercedes  Collet

66.5-67.3mm / 84-85mm

2.62-2.65" / 3.31-3.35"

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW160 400 072

HW160 xx0 038

HW160 xx0 070

HW160 xx0 006

CONES AND CONE KITS
Description Part Number Product

Centering Cone #1

42-64.5mm or 1.65-2.54"

Centering Cone #2

54-79.5mm or 2.12-3.13"

Centering Cone #3

74-100mm or 2.91-3.94"

Centering Cone #4

74-111.5mm or 2.95-4.39"

                 

89-132mm or 3.50-5.20"

HW150 xx0 008

HW150 xx0 009

HW150 xx0 010

HW150 xx0 012

             



12                                             

HU
B CEN

TERIN
G

CONES AND CONE KITS
Description Part Number Product

Centering Cone #1

42-64.5mm or 1.65-2.54"

Centering Cone #2

54-79.5mm or 2.12-3.13"

Centering Cone #3

74-100mm or 2.91-3.94"

Centering Cone #4

74-111.5mm or 2.95-4.39"

Centering Cone #5

89-132mm or 3.50-5.20"

3 Cone Kit #1

42-99.5mm - or 1.65-3.94"

Includes Cones 1, 2 and 3 Recommended for Coats

3 Cone Kit #2

42-111.5mm or 1.65-4.39"

Includes Cones 1, 2 and 4

4 Cone Kit #1

42-132mm or 1.65-5.20"

Includes Cones 1, 2, 3 and 5 Recommended for Coats

HW150 xx0 021

HW150 xx0 008

HW150 xx0 009

HW150 xx0 010

HW150 xx0 012

HW150 xx0 049

HW150 xx0 085

HW150 xx0 070

Centering Cone #3

74-100mm or 2.91-3.94"

Centering Cone #4

74-111.5mm or 2.95-4.39"

Centering Cone #5

89-132mm or 3.50-5.20"

3 Cone Kit #1

42-99.5mm - or 1.65-3.94"

Includes Cones 1, 2 and 3 Recommended for Coats

3 Cone Kit #2

42-111.5mm or 1.65-4.39"

Includes Cones 1, 2 and 4

4 Cone Kit #1

42-132mm or 1.65-5.20"

Includes Cones 1, 2, 3 and 5 Recommended for Coats

HW150 xx0 021

HW150 xx0 010

HW150 xx0 012

HW150 xx0 049

HW150 xx0 085

HW150 xx0 070CONES AND CONE KITS

Description Part Number Product

4 Cone Kit #2

42-132mm or 1.65-5.20"

Includes Cones 1, 2, 4 and 5

Light Truck Cone

122-174mm or 4.72-6.85"

Light Truck Cone Kit

122-174mm or 4.72-6.85"

Includes Truck Cone and Spacer HW190 400 018

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW150 400 008

SPACERS, SPRINGS AND DONUTS

Description Part Number Product

Universal Distance Spacer with Magnets HW190e008 047

Dista                             

HW150 xx0 043

HW150 xx0 134

HW150 xx0 091



13                                            

HU
B CEN

TERIN
G

LU
G

 CEN
TERIN

G

LUG CENTERING

Includes Truck Cone and Spacer HW190 400 018

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW150 400 008

SPACERS, SPRINGS AND DONUTS

Description Part Number Product

Universal Distance Spacer with Magnets HW190e008 047

Distance Spacer Coats HW190 008 062

Light Truck Spacer - 28mm HW190 280 018

Light Truck Spacer - 36mm HW190 360 018

Light Truck Spacer - 38mm HW190 380 018

Light Truck Spacer - 40mm HW190 400 018

Backing Spring - For All 28mm MCD's HW190 280 015

Backing Spring - For All 40mm MCD's HW190 400 015

Distance Spacer Donut - 28mm HW190e280 045

Distance Spacer Donut - 36mm HW190e360 045

Distance Spacer Donut - 38mm HW190e380 045

Distance Spacer Donut - 40mm HW190e400 045

Quick Plates Series IV
Description Part Number Product

Quick Plate IV Kit NEW 2014 Replaces HW200 456 409

Includes 4,5 and 6 Lug Quick Plates

Quick Tips: 6 x HW273e008 003, HW273e008 007,

HW273e008 023, HW273e008 025, Adapter Tree 900 008 205

                                          

                               

HW210 xx0 002

             



14                                             

LU
G

 CEN
TERIN

G

Quick Plates Series IV
Description Part Number Product

Quick Plate IV Kit NEW 2014 Replaces HW200 456 409

Includes 4,5 and 6 Lug Quick Plates

Quick Tips: 6 x HW273e008 003, HW273e008 007,

HW273e008 023, HW273e008 025, Adapter Tree 900 008 205

Quick Plate 4 - NEW Replaces HW249 010 400

Includes Tips HW273 008 003 x 4

Quick Plate 5 - NEW Replaces HW259 010 400

Includes Tips HW 273 008 007 x 5 and HW273 008 025 x 5

Quick Plate 6 - NEW Replaces HW269 010 400

Includes Tips HW 273 008 003 x 6

Hofmann Power Clamp Handle for Quick Plates - Requires 3 HW163 008 012

CEMB Power Clamp Handle for Quick Plates - Requires 3 HW163 589 008

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW210 400 002

HW210 xx0 002

HW249 013 xx9

HW259 013 xx9

HW269 013 xx9

Includes 4,5 and 6 Lug Quick Plates

Quick Tips: 6 x HW273e008 003, HW273e008 007,

HW273e008 023, HW273e008 025, Adapter Tree 900 008 205

Quick Plate 4 - NEW Replaces HW249 010 400

Includes Tips HW273 008 003 x 4

Quick Plate 5 - NEW Replaces HW259 010 400

Includes Tips HW 273 008 007 x 5 and HW273 008 025 x 5

Quick Plate 6 - NEW Replaces HW269 010 400

Includes Tips HW 273 008 003 x 6

Hofmann Power Clamp Handle for Quick Plates - Requires 3 HW163 008 012

CEMB Power Clamp Handle for Quick Plates - Requires 3 HW163 589 008

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW210 400 002

HW210 xx0 002

HW249 013 xx9

HW259 013 xx9

HW269 013 xx9

Quick Tips
Description Part Number Product

Quick Tip 1: 24.5mm Dia. 38mm length, Installed Length
80mm/3.15", Short Taper, Standard

HW273e008 003

Required for Toyota Truck/Shank Style Lug Applications

Quick Tip 2: 24.5mm Dia. 48mm Length, Ball Seat Tip

Installed Length: 90mm/3.5"

Quick Tip 3: 22.5mm Dia. 58mm, Installed Length 100mm/3.95",
Long Taper, Standard

HW273e008 025

Quick Tip 4: 19 Dia., 58mm Length, Tuner Tip

Total Installled Length: 100mm (3.95") HW273e008 023

Required for Aftermarket Wheels

Quick Tip 5: 34mm Dia. 38mm Length Land Rover Tip

Installed Length: 70mm/2.75"

Quick                                                       
Long                

             

HW273e008 007

HW273e008 009



15                                            

LU
G

 CEN
TERIN

G

Quick Tips
Description Part Number Product

Quick Tip 1: 24.5mm Dia. 38mm length, Installed Length
80mm/3.15", Short Taper, Standard

HW273e008 003

Required for Toyota Truck/Shank Style Lug Applications

Quick Tip 2: 24.5mm Dia. 48mm Length, Ball Seat Tip

Installed Length: 90mm/3.5"

Quick Tip 3: 22.5mm Dia. 58mm, Installed Length 100mm/3.95",
Long Taper, Standard

HW273e008 025

Quick Tip 4: 19 Dia., 58mm Length, Tuner Tip

Total Installled Length: 100mm (3.95") HW273e008 023

Required for Aftermarket Wheels

Quick Tip 5: 34mm Dia. 38mm Length Land Rover Tip

Installed Length: 70mm/2.75"

Quick Tip 6: 22.5mm Dia. 73mm, Installed Length 115mm/4.53",
Long Taper, Standard

HW273e008 028

Quick Tip 7: 42.5 Dia. 78mm, Installed Length 120mm/4.72", Ball
Seat Tip Tuner Sport

Recommended for Special Wide Wheel German Applications

Quick Plate Replacement Kit for Series III and IV:
6 x Quick Tip 1, 5 x Quick Tips 2, 3 and 4
and 3 x  HW200e008 027

HW200e008 046

Quick Plate Replacement Kit for Series III and IV:
Excentre Unit 5 Pack

HW200e008 047

HW273e008 007

HW273e008 009

HW273e008 029

Total Installled Length: 100mm (3.95") HW273e008 023

Required for Aftermarket Wheels

Quick Tip 5: 34mm Dia. 38mm Length Land Rover Tip

Installed Length: 70mm/2.75"

Quick Tip 6: 22.5mm Dia. 73mm, Installed Length 115mm/4.53",
Long Taper, Standard

HW273e008 028

Quick Tip 7: 42.5 Dia. 78mm, Installed Length 120mm/4.72", Ball
Seat Tip Tuner Sport

Recommended for Special Wide Wheel German Applications

Quick Plate Replacement Kit for Series III and IV:
6 x Quick Tip 1, 5 x Quick Tips 2, 3 and 4
and 3 x  HW200e008 027

HW200e008 046

Quick Plate Replacement Kit for Series III and IV:
Excentre Unit 5 Pack

HW200e008 047

HW273e008 009

HW273e008 029



16                                             

LU
G

 CEN
TERIN

G

NORTH AMERICAN FLANGE PLATE KIT
Description Part Number Product

North American Flange Plate Kit

Includes Plates A, B, C, D and Studs HW271 804 118 x 8

HW271 904 119 x 5, HW271 994 121 x 8, HW900 008 205 (Storage Tree)
and Chart

North American Flange Plate A

Covers the Following Bolt Hole Patterns:

mm = 4 x 98, 100, 108, 110, 114.3, 165.1, 170

in = 4 x 3.86, 3.94, 4.25, 4.33, 4.5, 6.5, 6.69

North American Flange Plate B

Covers the Following Bolt Hole Patterns:

mm = 5 x 98, 105, 108, 110, 115, 120.65, 135, 154.95

in = 5 x 3.86, 4.13, 4.25, 4.33, 4.53, 4.75, 5.31, 6.10

North American Flange Plate C

Covers the Following Bolt Hole Patterns:

mm = 5x100, 112, 114.3, 120, 127, 130, 139.7, 150, 165.1

in = 5x 3.94, 4.41, 4.5, 4.72, 5.00, 5.12, 5.5, 5.9, 6.5

North American Flange Plate D

Covers the Following Bolt Hole Patterns:

mm = 6 x 114.3, 115, 120, 127, 132, 135, 139.7

in = 6 x 4.5, 4.53, 4.72, 5.00, 5.20, 5.31, 5.5

Hofmann Power Clamp Handles for Flange Plates - Requires 4 HW163 008 012

CEMB Power Clamp Handles for Flange Plates - Requires 4 HW163 589 008

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW200 299 409

HW241e702 xx9

HW251e802 xx9

HW251e903 xx9

HW261e702 xx9

HW200 299 xx9



17                                            

LU
G

 CEN
TERIN

G

OE FLANGE PLATES
Description Part Number Product

BMW Flange Plate I

4 x 100mm, 5 x 120mm

Studs Not Included - Use HW271 994 208

BMW Flange Plate II

5 x 112mm, 5 x 120mm

Studs Not Included - Use HW271 994 208

Mercedes Flange Plate

3 x 112mm, 5 x 112mm, 5 x 130mm, 5 x 140mm

Studs Not Included - Use HW271 994 002

Mercedes Dodge Flange Plate

6 x 120mm, 6 x 125mm, 6 x 130mm

Studs Not Included - Use HW271 804 014

Porsche Flange Plate

5 x 130mm

Studs Not Included - Use HW271 904 119

Toyota Lexus Flange Plate #1

5 x 100mm, 5 x 114.3mm, 6 x 139.7mm

Studs Not Included - Use HW271 994 025

Toyota Lexus Flange Plate #2

4 x 100mm, 5 x 120mm, 5 x 150mm

Studs Not Included - Use HW271 994 025

HW211e201 xx0

HW251e208 xx0

HW201e402 xx0

HW260e301 xx0

HW251e901 xx9

HW231e301 xx3

HW251e306 xx0



18                                             

LU
G

 CEN
TERIN

G

OE FLANGE PLATES
Description Part Number Product

Tesla Flange Plate

5 x 110mm, 5 x 120mm

Studs Not Included - Use HW271 994 016

Flange Plate Wide 5 VW Bug

5 x 203.2, 5 x 205, 5 x 208

Studs Not Included - Use HW271 804 014

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW211E201 400

FLANGE PLATE STUDS 11mm
Description Part Number Product

Plug In Stud I, 19mm, 100mm Long, Tuner HW271 994 117

Plug In Stud II, 24.5mm, 80mm Long, Short Taper HW271 804 118

Plug In Stud III, 24.5mm, 90mm Long, Ball Seat HW271 904 119

Plug In Stud IV, 34mm, 80mm Long, Land Rover HW271 804 121

Plug In Stud V, 22.5mm, 100mm Long, Short Taper HW271 994 121

Plug In Stud 11mm Mercedes SLR 110mm Long HW271 114 122

Plug In Stud VI, 22.5mm, 120mm Long, Short Taper HW271 124 122

O-Ring for Plug In Stud 11mm (5 pack) HW271 008 002

HW231e403 xx2

HW251e406 xx0



19                                            

LU
G

 CEN
TERIN

G

FLANGE PLATE STUDS 12mm
Description Part Number Product

Plug In Stud 24.5mm, 80mm Long Wide 5 VW Bug HW271 804 014

Plug In Stud 90mm Long, Ball Seat HW271 904 002

Plug In Stud 24.5mm, 90mm Long, Long Taper HW271 904 012

Plug In Stud 24.5mm, 100mm Long, Porsche, Ball Seat HW271 994 002

Plug In Stud 100mm Long, Short Taper HW271 994 003

Plug In Stud 22.5mm, 100mm Long HW271 994 025

Plug In Stud 100mm Long, BMW, Spring Loaded HW271 994 208

Plug In Stud 22.5mm, 100mm Long, Tesla HW271 994 016

O-Ring for Plug In Stud 12mm (5 pack) HW271 008 001

WORLD KIT and UNILUG
Description Part Number

World Kit Plate #1  (Color Coded)

Covers the Following Bolt Hole Patterns:

4 x 95.25, 98.00, 100, 101.6, 108, 114.3 and 7 x 150, 8 x 170

World Kit Plate #2  (Color Coded)

Covers the Following Bolt Hole Patterns:

5 x 98, 108, 110, 115, 120.65, 135, 154.95

World Kit Plate #3  (Color Coded)

Covers the Following Bolt Hole Patterns:

5 x 100, 112, 114.3, 120, 127, 130, 139.7, 150, 165.1

World Kit Plate #4  (Color Coded)

                                        

3 x 98, 112, 114.3, 115, 127, 130, 132, 135, 139.7 and 8 x 6.6

HW251e801 xx9

HW251e901 xx9

             

HW241e801 xx9



20                                             

LU
G

 CEN
TERIN

G

WORLD KIT and UNILUG
Description Part Number

World Kit Plate #1  (Color Coded)

Covers the Following Bolt Hole Patterns:

4 x 95.25, 98.00, 100, 101.6, 108, 114.3 and 7 x 150, 8 x 170

World Kit Plate #2  (Color Coded)

Covers the Following Bolt Hole Patterns:

5 x 98, 108, 110, 115, 120.65, 135, 154.95

World Kit Plate #3  (Color Coded)

Covers the Following Bolt Hole Patterns:

5 x 100, 112, 114.3, 120, 127, 130, 139.7, 150, 165.1

World Kit Plate #4  (Color Coded)

Covers the Following Bolt Hole Patterns:

3 x 98, 112, 114.3, 115, 127, 130, 132, 135, 139.7 and 8 x 6.6

UniLug 28mm HW405 280 108

UniLug 40mm HW405 400 108

UniLug Conical HW405 818 108

Complete Lug for UniLug HW400e008 021

Fit screw UniLug - Height of Head 3.2mm HW400e008 050

Control Disc UniLug (Plastic) HW405e008 006

Fastening nut M10x1.25mm Extra Long, Round Head HW040 100 112

Fastening nut  Short, Round Head HW040 100 102

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW241e801 409

HW251e801 xx9

HW251e901 xx9

HW231e111 xx9

HW241e801 xx9

5 x 98, 108, 110, 115, 120.65, 135, 154.95

World Kit Plate #3  (Color Coded)

Covers the Following Bolt Hole Patterns:

5 x 100, 112, 114.3, 120, 127, 130, 139.7, 150, 165.1

World Kit Plate #4  (Color Coded)

Covers the Following Bolt Hole Patterns:

3 x 98, 112, 114.3, 115, 127, 130, 132, 135, 139.7 and 8 x 6.6

UniLug 28mm HW405 280 108

UniLug 40mm HW405 400 108

UniLug Conical HW405 818 108

Complete Lug for UniLug HW400e008 021

Fit screw UniLug - Height of Head 3.2mm HW400e008 050

Control Disc UniLug (Plastic) HW405e008 006

Fastening nut M10x1.25mm Extra Long, Round Head HW040 100 112

Fastening nut  Short, Round Head HW040 100 102

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW241e801 409

HW251e901 xx9

HW231e111 xx9



21                                            

SYSTEMS/KITS
SYSTEM

S/KITS

ProExpert System IV
Description Part Number Product

NEW ProExpert System IV

Replaces HW200 456 401

ProExpert System IV Includes:

3 Quick Plates: 249e011 400, 259e011 400, 269e011 400

Quick Tips x 6: 273e008 003, 273e008 007, 273e008 023

273e008 025

Duo Expert Kit: 165 400 007

Toyota Precision Collet: 160 400 062 (Use with 003 Quick Tip)

Ford Precision Collet: 160 400 060

Adapter Storage Tree 900 008 205

ProExpert Systems are only available in 40mm

Pro Centering System

Description Part Number Product

NEW Pro Centering System

Pro Centering System Includes:

3 Quick Plates: 249e011 400, 259e011 400, 269e011 400

Quick Tips x 6: 273e008 003, 273e008 007, 273e008 023

273e008 025

Pro Collet Kit: 150 400 110

Adapter Storage Tree 900 008 205

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW280 400 172

HW280 400 070

HW280 xx0 172

OE Centering Kits

Description Part Number Product

BMW Centering Kit - NEW Replaces 280 xx0 269

Kit Includes: 211e201 xx0, 251e208 xx0, 160 xx0 069

160 xx0 072 and 5 x 271 994 208

Mercedes Centering Kit

Kit Includes: 201e402 xx0, 160 xx0 032, 160 xx0 051 and

5 x 271 804 002

OE Centering Kits

                             

HW280 xx0 119

HW280 xx0 081



22                                             

SYSTEM
S/KITS

OE Centering Kits

Description Part Number Product

BMW Centering Kit - NEW Replaces 280 xx0 269

Kit Includes: 211e201 xx0, 251e208 xx0, 160 xx0 069

160 xx0 072 and 5 x 271 994 208

Mercedes Centering Kit

Kit Includes: 201e402 xx0, 160 xx0 032, 160 xx0 051 and

5 x 271 804 002

OE Centering Kits

Description Part Number Product

Tesla Centering Kit

Kit Includes: 251e406 xx0, 160 xx0 006 and

5 x 271 994 016

Porsche Centering Kit

Kit Includes: 251e901 xx9, 160 xx0 074, 160 xx0 065 and

5 x 271 904 119

Toyota/Lexus Truck Centering Kit

Kit includes: 231e301 403, 251e306 xx0, 160 xx0 062 and

6 x 271 994 025

NEW Toyota/Lexus Complete Centering Kit

Kit includes: 231e301 403, 251e306 xx0, 160 xx0 062,

150 xx0 112, 150 xx0 113 and 6 x 271 994 025

Replace xx with balancer shaft size (40, 38, 36, 28) for complete part number.  For example, HW280 400 119

HW280 xx0 033

HW280 xx0 119

HW280 xx0 081

HW280 xx0 106

HW280 xx0 032

HW280 xx0 028



23                                            

MEDIUM DUTY
M

EDIU
M

 DU
TY

PROMAX MD ADAPTER PLATES and HUB PILOT DISCS
Description Part Number Product

NEW Adapter 1 - New MD Flange Plate with Studs

6 x 205, 8 x 6.5" (165.1mm), 8 x 170, 8 x 180, 8 x 200, 8 x 210, 8 x 225, 10 x
225, 10 x 7.25" (184.15mm)

Adapter 2 - 4 Arm Star with Studs

8 x 170mm, 8 x 180mm, 8 x 200mm, 8 x 210mm, 8 x 225mm

Adapter 3 - 5 Arm Star with Studs

10 x 225mm, 10 x 285mm, 10 x 335mm

Adapter 4 - 3 Arm Star with Studs

3 x 6.69" (170mm), 7.25" (184.15mm), 7.87" (200mm), 8.07" (205mm), 3 x
8.75 (222.25mm)   Studs HW700 008 018 and HW700 008 025

Adapter 5 - Flange Plate Adapter

6 x 4.72" (120mm),  4.92" (125mm), 5.12" (130mm)

Adapter 6 - MD Flange Plate

8 x 6.5" (165.1mm), 8 x 180mm, 10 x x7.25" (184.15mm)
with studs HW271 804 003

Hub Pilot Disc 1

Hub Bores: 4.88" (123.95mm) / 4.92" (125.1mm)

Hub Pilot Disc 2

Hub Bores: 5.59" (142.1mm) / 6.69" (170.1mm)

Hub Pilot Disc 3

Hub Bores: 5.46" (136.65mm) / 5.25" (133.35mm)

HW251 307 400

HW190 xx0 052

HW700 xx0 033

HW700 xx0 019

HW700 xx0 017

HW160 xx0 047

HW160 xx0 048

HW700 xx0 018

HW260 301 xx0



24                                             

M
EDIU

M
 DU

TY

Hub Pilot Disc 4

Hub Bore: 4.56" (115.8mm)

Hub Pilot Disc 5

Hub Bore: 4.6" (116.8mm)

Hub Pilot Disc 6

Hub Bore: 4.77" (121.1mm)

Hub Pilot Disc 7

Hub Bores: 4.88" (124mm) / 6.06" (154mm)

Hub Pilot Disc 8 - Single Sided NPR

Hub Bores: 6.34" (161mm)

NEW Hub Pilot Disc 10 Sprinter Dodge Collet

Centering Disk Including Distance Spacer

Range Covers: 84mm - 161mm   40mm Only

NEW Hub Pilot Disc 11 New Spring Loaded Chevy Collet

Hub Bores: 4.88" (124mm) / 6.06" (154mm)  40mm Only

NEW Hub Pilot Disc 12 New Spring Loaded Ford Collet

Hub Bores: 5.46" (136.65mm) / 5.25" (133.35mm) 40mm Only

NEW Hub Pilot Disc 13 New Spring Loaded Collet

Hub Bores: 4.88" (123.95mm) / 4.92" (125.1mm) / 4.56" (115.8mm) / 4.6"
(116.8mm) / 4.77 (121.1mm), ALL 8x6.5" Applications  40mm Only

Replace xx with balancer shaft size (40, 38, 36, 28, 46, 51) for complete part number.  For example, HW700 400 033

HW190 xx0 060

HW190 xx0 062

HW190 xx0 071

HW160 xx0 067

HW160 xx0 056

HW280 xx0 027

HW280 xx0 029

HW280 xx0 030

HW280 xx0 031

PROMAX MD ADAPTER PLATES and HUB PILOT DISCS
Description Part Number Product

NEW Adapter 1 - New MD Flange Plate with Studs

6 x 205, 8 x 6.5" (165.1mm), 8 x 170, 8 x 180, 8 x 200, 8 x 210, 8 x 225, 10 x
225, 10 x 7.25" (184.15mm)

Adapter 2 - 4 Arm Star with Studs

8 x 170mm, 8 x 180mm, 8 x 200mm, 8 x 210mm, 8 x 225mm

Adapter 3 - 5 Arm Star with Studs

10 x 225mm, 10 x 285mm, 10 x 335mm

Adapter 4 - 3 Arm Star with Studs

3 x 6.69" (170mm), 7.25" (184.15mm), 7.87" (200mm), 8.07" (205mm), 3 x
8.75 (222.25mm)   Studs HW700 008 018 and HW700 008 025

Adapter 5 - Flange Plate Adapter

6 x 4.72" (120mm),  4.92" (125mm), 5.12" (130mm)

Adapter 6 - MD Flange Plate

8 x 6.5" (165.1mm), 8 x 180mm, 10 x x7.25" (184.15mm)
with studs HW271 804 003

Hub Pilot Disc 1

Hub Bores: 4.88" (123.95mm) / 4.92" (125.1mm)

Hub Pilot Disc 2

Hub Bores: 5.59" (142.1mm) / 6.69" (170.1mm)

Hub Pilot Disc 3

Hub Bores: 5.46" (136.65mm) / 5.25" (133.35mm)

HW251 307 400

HW190 xx0 052

HW700 xx0 033

HW700 xx0 019

HW700 xx0 017

HW160 xx0 047

HW160 xx0 048

HW700 xx0 018

HW260 301 xx0



25                                            

M
EDIU

M
 DU

TY

PROMAX MD KITS
Description Part Number

ProMax MD Select - NEW - 40mm Only

Kit Includes Flange Adapter 1, Hub Pilot Discs 2, 11, 12 and 13

ProMax MD Standard - 40mm Only

Kit Includes Flange Adapter 1, Hub Pilot Discs 2, 3, 7 and 13

ProMax MD for 28, 36, and 38mm

Kit Includes Adapter 1 and Hub Pilot Discs 1-7

ProMax 46mm

Kit Includes Adapter 1 and Hub Pilot Discs 1-7

ProMax 51mm

Kit Includes Adapter 1 and Hub Pilot Discs 1-7

ProMax 10

Kit Includes Adapter 3 and Hub Pilot Disc 2

ProMax Chevy II

Kit Includes Adapter 2 and Hub Pilot Disc 7

ProMax 8 x 6.5  - NEW

Kit Includes Adapter 6 and Hub Pilot Disc 13

Universal 8x6.5 (40mm Only)

Universal Adapter for all 8 x 6.5 Applications

Includes spring loaded cone, backing plate and flange plate

HW280 xx0 144

HW280 400 044

HW280 400 140

HW280 400 142

HW280 xx0 501

HW280 xx0 113

HW280 xx0 139

HW280 460 139

HW280 510 139



26                                             

M
EDIU

M
 DU

TY

PROMAX MD KITS
Description Part Number

ProMax 6 Sprinter - NEW Complete Sprinter Kit

Dual Wheel Sprinters and Isuzu NPR Vehicles

Kit Includes: Adapter 4, Adapter 5, Hub Disc 8

700 008 018 (old style) and 700 008 025 (new style)  40mm Only

ProMax 6 - HD

Kit Includes: Adapter 4, Hub Disc 8, 700 008 013,

700 008 018 and 700 008 025

ProMax Total - MD, HD, Sprinter Complete Kit

Kit Includes - ProMaxHD Master HW700 400 193, Pro Max MD

HW280 400 140, Pro Max 6 HW280 400 075

HW700 008 025 x 5, HW150 400 024 HD Cone  40mm Only

ProMax Total - MD, HD, Sprinter Complete Kit

Kit Includes - ProMaxHD Master HW700 400 193, Pro Max MD

HW280 xx0 139, Pro Max 6 HW280 xx0 075

HW700 008 025 x 5, HW150 400 024 HD Cone

Replace xx with balancer shaft size (40, 38, 36, 28, 46, 51) for complete part number.  For example, HW280 400 140

HW700 xx0 208

HW280 xx0 122

HW280 xx0 075

HW700 400 207



27                                            

PROMAX MD STUDS
Description Part Number Product

Adapter 1 Studs - New Flange Adapter Studs HW700e008 033

Adapter 2 Studs - Four Arm Star Long Studs with Nuts HW700 008 029

Adapter 3 Studs - Five Arm Star Studs with Nuts HW700 008 024

Adapter 4 - Centering Bolt and Nut NPR HW700 008 013

Adapter 4 - Centering Bolt and Nut Sprinter - Old Style HW700 008 018

Adapter 4 - Centering Bolt and Nut Sprinter -
New Style 2008 and Up

HW700 008 025

ProMax 8.65 Studs - 80mm Length (3.15") HW270 804 021

Adapter 5 - Plug In Stud HW271 804 003

M
EDIU

M
 DU

TY



28                                             

HEAVY DU
TY

PROMAX HD
Description Part Number Product

ProMax HD Master

Kit Includes: HD 4 Arm Star, HD 5 Arm Star, Stud and Hub

Pilot Disc, Basic Truck Adapter, 5 x Steel Wheel Studs

and 5 x Aluminum Wheel Studs

ProMax HD Eco 8 - New

Kit Includes: HD 4 Arm Star, Centering Disc

HW700e400 020 and 4 x Steel Wheel Studs

ProMax HD Eco 10 - New

Kit Includes: HD 5 Arm Star, Centering Disc

HW700e400 020 and 5 x Steel Wheel Studs

ProMax Total - MD, HD, Sprinter Complete Kit

Kit Includes - ProMaxHD Master HW700 400 193, Pro Max MD

HW280 400 140, Pro Max 6 HW280 400 075

HW700 008 025 x 5, HW150 400 024 HD Cone      40mm Only

ProMax Total - MD, HD, Sprinter Complete Kit

Kit Includes - ProMaxHD Master HW700 400 193, Pro Max MD

HW280 400 140, Pro Max 6 HW280 400 075

HW700 008 025 x 5, HW150 400 024 HD Cone

Replace xx with balancer shaft size (40, 46, 51) for complete part number.  For example, HW700 400 193

HW700 xx0 193

HW700 xx0 206

HW700 xx 208

HW700 xx0 205

HW700 400 207

HEAVY DUTY



29                                            

HEAVY DU
TY

HD ADAPTER PLATES, HUB PILOT DISCS and HD CONES
Description Part Number Product

HD 5 Arm Star - 40mm

10 x 8.86" (225mm), 10 x 11.25" (285.75mm) and

10 x 13.19" (335mm)       Studs Sold Separately

HD 4 Arm Star - 40mm

8 x 10.83" (275mm) and 8 x 11.22" (285mm)      Studs Sold Separately

Basic Semi Truck Adapter - 40mm

Stud Support Plate Hub Bore: 11.06" (281mm)

Stud Pilot Centering Disc - 40mm

Center Bore: 8.69" (220.8mm)

Hub Pilot Centering Disc - 40mm

Center Bore: 8.66" (219.9mm)

Truck Centering Disc - Dual Sided

Center Bore: 8.66" (219.9mm) / 8.69" (220.8mm)

HW700e400 020

HW70Be958 007

HW70Be958 008

HW700e400 004

HW700e400 005

HW700e958 113



30                                             

HEAVY DU
TY

HD ADAPTER PLATES, HUB PILOT DISCS and HD CONES
Description Part Number Product

HD 5 Arm Star - 46mm

10 x 8.86" (225mm), 10 x 11.25" (285.75mm) and

10 x 13.19" (335mm)       Studs Sold Separately

HD 4 Arm Star - 46mm

8 x 10.83" (275mm) and 8 x 11.22" (285mm)      Studs Sold Separately

Basic Semi Truck Adapter - 46mm

Stud Support Plate Hub Bore: 11.06" (281mm)

Stud Pilot Centering Disc - 46mm

Center Bore: 8.69" (220.8mm)

Hub Pilot Centering Disc - 46mm

Center Bore: 8.66" (219.9mm)

Truck Centering Disc - Dual Sided

Center Bore: 8.66" (219.9mm) / 8.69" (220.8mm)

HW700e460 004

HW700e460 005

HW700e905 113

HW700e905 007

HW700e905 008

HW700e460 020



31                                            

HD ADAPTER PLATES, HUB PILOT DISCS and HD CONES
Description Part Number Product

HD 5 Arm Star - 51mm

10 x 8.86" (225mm), 10 x 11.25" (285.75mm) and

10 x 13.19" (335mm)       Studs Sold Separately

HD 4 Arm Star - 51mm

8 x 10.83" (275mm) and 8 x 11.22" (285mm)      Studs Sold Separately

Basic Semi Truck Adapter - 51mm

Stud Support Plate Hub Bore: 11.06" (281mm)

Stud Pilot Centering Disc - 51mm

Center Bore: 8.69" (220.8mm)

Hub Pilot Centering Disc - 51mm

Center Bore: 8.66" (219.9mm)

Truck Centering Disc - Dual Sided

Center Bore: 8.66" (219.9mm) / 8.69" (220.8mm)

HW70Be798 008

HW700e510 020

HW700e510 004

HW700e510 005

HW700e888 113

HW70Be798 007

HEAVY DU
TY



32                                             

HD ADAPTER PLATES, HUB PILOT DISCS and HD CONES
Description Part Number Product

HD Centering Cone #1 7.79” – 8.85" - 40mm HW150 400 024

HD Centering Cone #2 10.92" - 11.0" - 40mm HW150 400 025

HD Centering Cone #1 7.79” – 8.85" - 46mm HW150 460 024

HD Centering Cone #2 10.92" - 11.0" - 46mm HW150 460 025

HD Centering Cone #1 7.79” – 8.85" - 51mm HW150 510 024

HD Centering Cone #2 10.92" - 11.0" - 51mm HW150 510 025

Universal Steel Spacer - HD HW190e988 003

HD Centering Cones must be used with Basic Semi Adapters HW700e958 113 or 700e888 113.

Pro Max HD Studs
Description Part Number Product

Centering Stud - Steel Wheels HW700 008 003

Centering Stud - Trucks/Buses w/ Larger Stud Holes HW700 008 004

Centering Stud - Short/Flat Head HW700 008 005

Centering Stud - Aluminum Wheels HW700 008 006
HEAVY DU

TY



33

MOTORCYCLE

Trilex/Dayton Adapters
Description Part Number Product

Trilex 20" / 24" - Fisher, Dayton 40mm HW725 400 001

Trilex 20"/ 22.5"/ 24" - Europa 40mm HW725 400 002

Trilex 20" / 24" - Fisher, Dayton 46mm HW725 460 001

Trilex 20"/ 22.5"/ 24" - Europa 46mm HW725 460 002

Trilex 20" / 24" - Fisher, Dayton 51mm HW725 510 001

Trilex 20"/ 22.5"/ 24" - Europa 51mm HW725 510 002

HEAVY DU
TY

PROBIKE II AND ATV
All NEW - LAUNCH 01.01.2015

Description Part Number Product

ProBike UNI Modular System Standard 40mm HW815 401 010

ProBike UNI Modular System Standard - Conical HW815 818 010

ProBike UNI Modular System Standard  28mm HW815 281 010

ProBike Upgrade 14mm Stud Axle (All) HW815 008 001

ProBike Upgrade 19mm Stud Axle (All) HW815 008 002

M
O

TO
RCYCLE



34                                             

M
O

TO
RCYCLE

PROBIKE STORAGE, TOOLS and COMPONENTS
Description Part Number Product

Wallboard - ProBike II Standard HW900 008 142

Wallboard - ProBike II Profi HW900 008 143

ProBike Quick Fix Clamping Tool: 14mm HW890 140 001

ProBike Quick Fix Clamping Tool: 19mm HW890 190 001

Spanner Wrench for Motorcycle HW990E008 001

PROBIKE II AND ATV
All NEW - LAUNCH 01.01.2015

Description Part Number Product

ProBike UNI Modular System Standard 40mm HW815 401 010

ProBike UNI Modular System Standard - Conical HW815 818 010

ProBike UNI Modular System Standard  28mm HW815 281 010

ProBike Upgrade 14mm Stud Axle (All) HW815 008 001

ProBike Upgrade 19mm Stud Axle (All) HW815 008 002

ProBike Upgrade PROFI 19mm Mono Lever HW815 008 003

ProBike UNI Harley Davidson Custom System OEM:
Designed for 2014 and UP Harley Davidson Motorcycles

HW815 401 020

ProBike UNI Harley Davidson Custom System 40mm HW815 401 014

ProBike UNI Harley Davidson Custom System - Conical HW815 818 014

ProBike UNI Harley Davidson Custom System 28mm HW815 281 014

Special ATV Centering Kit HW280 400 055

PROBIKE II AND ATV
All NEW - LAUNCH 01.01.2015

Description Part Number Product

ProBike UNI Modular System Standard 40mm HW815 401 010

ProBike UNI Modular System Standard - Conical HW815 818 010

ProBike UNI Modular System Standard  28mm HW815 281 010

ProBike Upgrade 14mm Stud Axle (All) HW815 008 001

ProBike Upgrade 19mm Stud Axle (All) HW815 008 002

ProBike Upgrade PROFI 19mm Mono Lever HW815 008 003

ProBike UNI Harley Davidson Custom System OEM:
Designed for 2014 and UP Harley Davidson Motorcycles

HW815 401 020

ProBike UNI Harley Davidson Custom System 40mm HW815 401 014

ProBike UNI Harley Davidson Custom System - Conical HW815 818 014

ProBike UNI Harley Davidson Custom System 28mm HW815 281 014

Special ATV Centering Kit HW280 400 055



35                                            

ADAPTER STORAGE
Description Part Number Product

NEW - Haweka Adaptor Tree HW900 008 205

Storage Trolley - North American Flange Plate Kit HW900 008 127

TOOLS
Description Part Number Product

PCD Measuring Tool            HW490 008 000

Tire Width Calipers         HW900 008 005

Wheel Weight Pliers         HW900 008 006

Run Out Measuring Device HW900 008 027

Special Weight Application Tool HW900 008 040

Plug Gauge and Measuring Forks Set HW900 008 076

Shaft Gauge - Measures Shaft Dia and Thread Pitch HW900 008 108

Wheel Weight Scraper                 HW900E008 089

AIRGO WHEEL LIFT
Description Part Number Product

Airgo Wheel Lift             HW916 000 014

TOOLS/STORAGE



 

По вопросам продаж и поддержки обращайтесь: 
 

Алматы (7273)495-231 
Архангельск (8182)63-90-72 
Астрахань (8512)99-46-04 
Барнаул (3852)73-04-60 
Белгород (4722)40-23-64 
Брянск (4832)59-03-52 
Владивосток (423)249-28-31 
Волгоград (844)278-03-48 
Вологда (8172)26-41-59 
Воронеж (473)204-51-73 
Екатеринбург (343)384-55-89 
Иваново (4932)77-34-06 
Ижевск (3412)26-03-58 
Иркутск (395)279-98-46 

Казань (843)206-01-48 
Калининград (4012)72-03-81 
Калуга (4842)92-23-67 
Кемерово (3842)65-04-62 
Киров (8332)68-02-04 
Краснодар (861)203-40-90 
Красноярск (391)204-63-61 
Курск (4712)77-13-04 
Липецк (4742)52-20-81 
Магнитогорск (3519)55-03-13 
Москва (495)268-04-70 
Мурманск (8152)59-64-93 
Набережные Челны (8552)20-53-41 
Нижний Новгород (831)429-08-12 

Новокузнецк (3843)20-46-81 
Новосибирск (383)227-86-73 
Омск (3812)21-46-40 
Орел (4862)44-53-42 
Оренбург (3532)37-68-04 
Пенза (8412)22-31-16 
Пермь (342)205-81-47 
Ростов-на-Дону (863)308-18-15 
Рязань (4912)46-61-64 
Самара (846)206-03-16 
Санкт-Петербург (812)309-46-40 
Саратов (845)249-38-78 
Севастополь (8692)22-31-93 
Симферополь (3652)67-13-56 

Смоленск (4812)29-41-54 
Сочи (862)225-72-31 
Ставрополь (8652)20-65-13 
Сургут (3462)77-98-35 
Тверь (4822)63-31-35 
Томск (3822)98-41-53 
Тула (4872)74-02-29 
Тюмень (3452)66-21-18 
Ульяновск (8422)24-23-59 
Уфа (347)229-48-12 
Хабаровск (4212)92-98-04 
Челябинск (351)202-03-61 
Череповец (8202)49-02-64 
Ярославль (4852)69-52-93 

    
Россия (495)268-04-70 Киргизия (996)312-96-26-47 Казахстан (7172)727-132  

 
hwa@nt-rt.ru || https://haweka.nt-rt.ru/ 

mailto:hwa@nt-rt.ru
https://haweka.nt-rt.ru/

